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Handout — Composition

Dusty Wilson
Math 115
Example 1 .
Let ixy= ﬁ and g(x) = \/L} ~ X
a.) Find the domain of .

e o8

- J * » X  DomainoffDy={x|_—3 $X%3 }

..-3 3
b.) Find the domain of g.

+ &

J — > 4 Domain of g: D, = ?X] x 5‘-4;
4
¢.) Create a table of values. x
X -6 -5 -4 3 4 5
;ﬁ;r)ey{xs .;,ll‘rr"' &2 |3 [ o - (DDMI‘N e:sr-F =,
) s | o |1 | B 3 >
d.) Find (= g)(x) = f(g(x))
FVix ) = Va- ()
srme——]
= 5+X
\ » rD q‘j ﬂ"p '[:‘\

f(gl) = P
e.) If we call the expression found in (d.) the
apparent composition (AC), find D 4. fx) = /',__1 -xt
Domain of AC: Do = X |X ¥~53. ¥ =~ Sy

£) The domain of f(z(x)) is ‘Dj,; = ’D%k A D

Domain of f(g(x)):D,,, = _ﬂ_é_K{ -5e X 3 ‘1‘% .




JAN-02-2004 FRI 04:08 PM HCC MATH & BUSINESS FAX NO. 206 870 4850 P. 0b/06

Example 2
Let f(x)= wﬁz and g(x)=2-x. Find f(g(x)) and g(f(x)) and the domains of each
x+

composition.

a.) Find the domain of f'and g.

s 0 . ] - - } ]
D= X XER aud xp- R D, = ix/x <R}
b.) Find f(g(x)).

-Ck"zw) = 27X

Y

)
= =X
b - X
r I
=
flglxn= b-x
¢.) What is the domain of the apparent composition?
D, = $x]¥eR aid x+ L1,
d.) Whatis D, ?
D,, = ?x}keiﬁ and x 463,
e.) Find g(f(x)).
(X) = t- 3
AT I x+¢
- LUU‘-GS ~ X
X+ w4+ <
S = 2.4 g(f(x)= %«
x -+t

f.) What is the domain of the apparent composition?

Dyc = ;X l"Xe‘ZI- "%n-lcl X 4:-93.

g.) Whatis D ?

D = é'x))(&m arn d K’,‘""-I;Zj_

gzt
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Example 3 (2.5 #81)

Let f(x)= 2x 't;l and g(x)= i% Find f(g(x)) and g(f(x)) and the domains of each
x—2 x—

compaosition,

a.) Find the domain of fand g.

Df = DE

b} Find f(g(x)).

flglxn=_

¢.) What is the domain of the apparent composition?

Dye =

d.) Whatis D,.,?

e.) Find g(f(x)).

g(f(x)=

£) What is the domain of the apparent composition?

Dy =

g.) Whatis D,, .7

a~f




